Which of the two statements comes closer to your view?

1. The main reason government has become bigger over the years is because it has gotten
involved in things that people should do for themselves.

2. Government has become bigger because the problems we face have become bigger.

oelect one answer only

O 1. The main reason government has become bigger over the years is because it has gotten involved in
things that people should do for themselves.

O 2. Government has become bigger because the problems we face have become bigger,




